Chapter 3 Quiz A Name:
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1. Write the expression (2 — 3i) + 5i(1 — 3i) as a complex number in standard form
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2. Find the zeros of g(x) = 2x?% + 32.
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4. Writey = x2 — 6x@m vertex form. Then identify the vertex.

gz (x* cm-m\@ .

5. Solve 3x? — 5x + 8 = 0 using the Quadratic Formula. 3. s
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6. Solve the system:
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7. Which inequality is represented by the graph? Show ouwr we é’ 5
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8. Solvex? — 2x — 156 b algebraically. Then graph the solution.
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9. Abowling ball is dropped from a height of 35 feet.

a. Write a function that gives the height h (in feet) of the bowling ball after t seconds.
& ()2 et *+25
b. Find the height of the bowling ball after 1 second.
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c. How long does the bowling ball take to hit the ground? Round your answer to the
nearest hundredth of a second. . \Ff,‘\‘“
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10. The temperature y (in degrees Fahrenheit) after t months can be modeled by the function
y = —3t? + 18t + 53, where 1 < t < 12.

a. Write the function in vertex form.
9= % (5t 1—(“5 ‘”33"*7‘7

b. Find the maximum temperature durmg the year.
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11. A rectangular garden must have a perimeter of 155 feet and an area of at least 1400 square
feet. Describe the possible lengths of the garden. Round your answer to the nearest
hundredth of a foot.
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